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Really he maintains, one who lends his friend with witnesses is not
required to repay him with witnesses, etc.

Overview

7AM1 27 91K X271 ruled that the two 2MYw can be 0>7¥ (even) by Mmn >17.! The 8mx
asks that if we maintain 2°7y2 W19% % 0°7v2 170 IR M9n0,2 these 2°m>w have a
vested interest in testifying that the loan was paid, since otherwise (if they would not
say the loan was paid), the m> will ask them to return the money to him.?> The X723
therefore concludes that we must say that 19 91X X827 maintains 2°792 177270 DR M40
0>7y2 1WwMMeL ¥"R.* Our MooIn explores whether we can still say that 1" X X237
maintains 2792 W97 TIX 227Y2 17720 DR MR,

mooin asks:
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It is astounding! For it seems that if we maintain that T°9% 0>7v2 1720 DR M0

297w2 WMDY, the ruling of 1"9X k27, would not be properly understood -
- 93T POY NN DO1Y2 IWNAY To987 INT JNNY 199N T NP

But it is not so! For even according to the one who maintains 2772 1y15% 793,
nevertheless the ruling of 1"X X271 that the om%w are believed is properly

understood -
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For we have established that even according to the 7''% that 2>7v3 7521 nR mbnn

QITY2 WIIBY X, nevertheless -
- DY1Y2 199TNNY TH9N PN DT¥2 192aNY TPann

One who deposits anything (not a loan) by his friend with 257, it is not necessary

!'If the Mm% made them 0M>W to pay the T7», they may testify that the loan was paid.

2 Generally (before the mpn of non ny1aw) if the M> claims he paid up the loan (and there was no ww), the M is
exempt from paying. There is a dispute what the ruling is if there are witnesses to the loan, but the m> (while agreeing
there was a loan) claimed *n¥19; some say he is believed while others maintain he is not believed and must pay.

3 Presumably 1"7 IR X271 is also discussing a case where there were witnesses that the M? gave money to the o mbw
to pay the mon. Therefore, the 2m>w have an interest in testifying that they paid the m>» (instead of keeping the
money for themselves), for otherwise the m? would demand his money back, and according to the 7"n that nx 77210
0°7V2 WMDY PI¥ 0°7v1 17020 they would have no recourse but to pay back the m>.

4 If we maintain that £>7y2 119 "R 0°7¥2 17°a0 DR M>nn, the oMW have no vested interest in saying the loan was
paid, for the o'W could just as easily say we did not pay the m>», but we returned the money to you and they would
be exempt from paying or swearing (before the f1pn of no*n nyaw)

5> The n"an maxa refers us to 2,77 (2"2) 2°N2n DRI PIo.
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to return it with 2°7¥; the reason there is a difference by N7po -
= 5YDINI 99N Y3 INT NN ‘[b PNITNN 91999 NN ANYT

For he is believed to say, ‘I returned it to you’ with a % that he could have

said, ‘they were destroyed accidentally’ -
- 11359919 515 %3NY 991 MYNY DITYN YN 1N PTPI RNT TP 299N NI

And here (regarding the issue between the 2’m>w and the m?), we are discussing a
17PD (not a loan), for regarding the witnesses (the 2’m>w) the money is by them
a deposit (not a loan), for the 1% gave them over the money in order they deliver

it to the Mm% (the o>m>w had no right to use this money for anything else) -
- 89759 D19TNN 1219 ©Y91971 931 DY 9 BIIANI |9 ONY

So therefore the 0>7v/0°m>Y are believed to say we paid up the money to the M,
with a 1a% that they could have said we returned the money to the mb.

In summation: MooN asks that 19X 827 can maintain 0>7v2 137197 7°7% 0°7v2 17°207 DR M2 (not as
the X7n3 concludes) since even that 7"» agrees that by 11775 he need not return it >7v2, for he has
a 131 of 10181; the same 131 applies to the 0°7v/2°mM>Ww since by them it is a N7 not a M.

N190IN answers:
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And one can say; that nevertheless even by a 177p2 they are only believed with

an oath -
= 9538 AW XY 9 YDINI 9N 29 YON (3,9 94 x9ma xaa) DD VINTS

As the X7 states there;!® ‘is it not so that when he claims "o1R2', is he not

® There are basic differences between a %1 (a loan) and a 1775 (a deposit). A Mm>n belongs to the M? and he may do
with it as he pleases (obviously he must return the loan at some time in the future). A 1725 belongs to the 7°pon; the
custodian (holding the 7779) has no right to use it at all (and must obviously return it to the owner at the designated
time). Regarding a m»» the M must always pay it back, even if he lost it or it was stolen from him before he even had
a chance to use it. However by n7p» if there was an unavoidable mishap and the 7779 is gone he is exempt from
payment (even if he is a 12w ). Therefore even the one who maintains 0°7¥2 1wM9% "X 07V 17720 DR M7A7 agrees
that by 1175, where the 7p01 (the custodian) has the 1°» of saying 101X1, so even if he claims *n7in he is believed (as
opposed to a m»» where the M? cannot claim 10181 and must always repay the loan).

" In the relationship between the 1% and the 1% we are discussing a loan, however in the relationship between the m»
and the oMW the money was not given to them as a loan, but rather they were entrusted with the money to deliver it
to the m7n; by the o’mM>Ww the money was a N17p9, not a M»», so they can always claim 101X1 and be 1w from paying.

8 See ‘Thinking it over’.

% The rule is if the "W (the custodian of the 117p9) claims 10181, he must swear that it was 10181 (he was not negligent,
etc.), otherwise he is not believed and is required to pay. Similarly when he claims *n=17 (according to the 7% 7"»
0*7v2 Ww199), for which he is believed only because of the 13 of 101X1, he must also swear (that he returned the 11779),
for the claim of *n71mn cannot be ‘stronger’ than the claim of 01Xy, which is the basis for believing him.

19 The case there is where the 7pon had a 7vw that he deposited the 117p5 by the Tp51, and nevertheless the Tp01 is
believed to claim 101817 22 N, provided that he swears *nam.
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required to swear, similarly when he claims >namn (for which he is believed 101817 1312), he
is also required to swear, and therefore, since the D°m>w/a>7y are required to swear if they would

have said, ‘we returned it to you’ -
£ BYHONRY 199 IMTYA WNN PN ZNAY NI 1IN 1IRY Ty 11999

So any witness who is not believed without a 7712w, there is no substance to his
testimony as I will shortly explain.'

Summary
o7y are not believed if they require a 712w to certify their m7y. All agree that 7ponn

0°7v2 1y9% X"R 272 17720 N (he will need a 7y12w if we maintain 1721 DX MR
0°7Y2 WMDY TIX 2vTY2).

Thinking it over

1. mooIn writes that (seemingly) the 2m%w should be believed to testify that they
paid the m%n» with a 1» that they could have said we returned it to the m».'> Why did
not MooIN write that they are believed with the 13 of 101X1 (since that is the reason
they are believed to say M2 o1u1mm)?1

2. mooin asks his question on the X1pon of the X3 that ¥"X "2 m%na Na0p oWy
271 WwMD%’; why did not '01n ask the same question on the Jwpn who stated: 220p °X'
N1 NI OMTYR QWA 1T MDY WB PR MDY monn; it is seemingly the same
question?!!’

' This conclusion of Mmoo is necessary only if the o7y agreed to swear (or swore) that they paid the 79n. However
if they are not willing to swear, then obviously they are not believed, because there still remains a vested interest. The
o°7v would rather say we paid the 779 (where there is no requirement to swear), than to say we returned it to the M7
where there is a requirement to swear (see footnote # 9), therefore, since they have a vested interest, they are not
believed. moon is adding that even if they swear that they paid the m%» (so there is no difference which claim they
make), nevertheless they are not believed since we needed an oath to believe them, and N7y need to be believed
without an oath. See following Xnwm "7 'oin.

12 In actuality the 0>7v here are testifying that they paid the m%n. However in order to remove their vested interest, we
say that they could have just as easily said we returned it to the Mm%, and they would be believed. However they would
only be believed if they swore, [either that we paid the m>n or ‘we returned it to the M7’ (for the acceptance of their
claim m%% 1171737, is based on the 1 of 101R1, which requires a 7v12w) see footnote # 11], and an 7v which requires a
7¥12w to be believed is not considered an 7y at all!

13 See following Rnwm 7"7 'o1n.

14 However if we maintain 2°7v2 w97 ¥"X 0°7v2 17720 DX Mon7, the o7y are believed to claim 211ym9 with a 13 of
mM>% 1717, since there is no obligation of a 12w (except for a No*1 N2V after the n3pn).

15 See footnote # 8.

16 See ywuT® 7197 ,001 MPRY ,X"wAn.

17 See 7o N1y (and footnote # 3).
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